
Exponents and Radicals 
 
A.  Evaluate each of the following:  Show all your work 
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B.  Simplify each of the following: 
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 h)  a2x− y( ) a2x+ y( ) = a4 x  
 
C.  Write each of the following in simpliest form: 

a)  162 = 2 ⋅ 34 = 32 2  b)  325 = 255 = 2  c) 26 x12y154 = 2x3y3 22 y34  
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D.  Simplify each of the following radicals: 
 

a)  3 5 − 2 5 + 7 5 = 8 5  b) −4 6 + 3 2 − 5 6 + 9 2 = −9 6 +12 2  
  

c) 27 + 2 75 = 33 + 2 3 ⋅52 = 3 3 +10 3 = 13 3  
 

d) 3 804 + 6 4054 = 3 24 ⋅54 + 6 34 ⋅54 = 3 ⋅2 54 + 6 ⋅ 3 54 = 6 54 +18 54 = 24 54  
  
e) 12 + 3 243 = 22 ⋅ 3 + 3 23 ⋅ 33 = 2 3 + 3 ⋅2 33 = 2 3 + 6 33  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h) 2 85 ⋅ −2 205 = 2 235 ⋅ −2 22 ⋅55 = −4 25 ⋅55 = −4 ⋅2 55 = −5 55  
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k)  3− 5( ) 3+ 5( ) = 9 + 3 5 − 3 5 − 5 = 4    
 
l)  73 − 3( ) 73 + 2( ) = 723 + 2 73 − 3 73 − 6 = 723 − 73 − 6   
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